Valutazione di polinomi di primo grado in una variabile

Periodo 1 - UdA 3-4

Valutare 1 seguenti polinomi per 1 valori indicati

10.

S o R i

P(z) =3z +3 PR P@B) P
Q(x) = —22 —2 Q(-2) Q(-3) Q)
P(z) = =3z +3 P(=3) P(3) P(-2
Q(x) =201 Q-5 Q(-3) Q)
P(z) = -z +2 P(—4) P(2) P(0)
Qx)=2-5 Q-2 QB) QE
Px)=32z-1 P(3) r(-1) PO
Q(x) = g2 Q(3) @(-1) Qo
P(z) = —22—3 P(%) P(-1) p(_g)
Q@) =—f+y Q-1 Q(-3) @(-3)
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SOLUZIONI

Valutazione di polinomi di primo grado in una variabile  Periodo 1 - UdA 3-4
[1] P(2)=9P@3)=12 P(1)=0 2l Q(-2)=2Q(-3)=4Q#)=-10

B P(=3)=12P@)=-6P(=2)=9 [4 Q(HD)=-11Q(=3)=-TQ(2) =3

5] P(-4)=06P(2)=0 P(0) =2 6] Q(-2)=-TQE)=-2Q(2)=-3
1 PA=IP(H--2PO--1 K Q@--%¥Q(-H--Fe@--3
o PE=-2PC=FP(-D=1 M QED-3Q(-D-1Q(-D-}
n P@=2P(H=-kP(H) =0 1] Q@) -1@(-H-ie-2-}
B PO=1P(ED=2PO=1 1 QE)-1Q(-)-106) -}
5 PED=1PE=3 P =3 10 Q=3 -3 Q(-H) =3
1 PA--1PH-1PD =3 19 QED-}e--}Q(-}) -2
0 P =2P@=3P()=1 [ Q1) =3%Q(-)=2Q()=0




